Profit
Convert 9:30 p.m. into 24 hours time.
The horizontal line in a bar graph is called

-axis
quadrilateral whose all angles are right angle, is

A line segment has a :

The number of right angles in a rectangle is

At 6 o'clock, the minute hand and the hour hand of a clock form an angle measures

Diameter divides the circle into two

In a triangle ABC AB=3cm, BC =4.5cm, CA=4.5 cm, the triangle is

vi) The sum of all four angle of a quadrilateral is degree
he measure of the closed curve forming a circle is called

viii) The time 7:40 in the evening is

ixX) The area of a square is 16 Sg. cm. The side of the square is
X) S.P =Rs. 180, C.P = Rs. 170 Profit = .

12 Min 42 Sec + 18 Min 18 Sec.
Straight angle = 120 degree

i) A dealer sold a house for ¥ 15000 by making a profit of T 8000.Find the cost price of the house.

hat will be the degree measures of two equal angles of an Isosceles right triangle?

iii)
(a) names of the arms of the angle.

(b) name of the vertex of the angle. -

The radious of the circle is 5.6cm. Find the circumference of the circle.
v) Find the Area of a rectangle of Length =8 m, Breadth = 5 m.




hat time was it, 1 hour 50 minutes before 12:30 p.m.?
Radha bought a watch for Rs. 2250 and sold it at a gain of 10%. Find the S.P of the watch.
iii) The perimeter of a square is 80m. Find its area.

(a) two points in the interio
(b) two points in the exterio
(c) two point on the angle

How much money is spent on clothing and education?
On which item maximum money is spent?
How much money is kept for miscellaneous item

(¢) One Chord
(d)







